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1. Options shown in green color with a tick icon are correct
2. Chosen option on top right of the question indicates the option selected by the candidate

Q1 g FET SEHFEEE F FE AH T AT G

Solid carbon dioxide is known as:
Ans
1 dg %
gas ice
X2 e T
wet ice
X3 3T %
solid ice
& 7%
4N
dry ice
Q.2 Fya W s fFEr FY it Pt w5t & swe A Rar Fie wegEe
fafga & &

v

T
FFAT F HIA TN F FE, "dRae AY T F FAY A cuidd gl

AT
1. 3@ drae e gfeae 7@ 8

2. 3FaT dEe P I T FAAT AR

Consider the argument and decide which of the given assumptions is/are implicit.

Argument:

Akbar said to his queen, “Birbal is the wisest man in my kingdom.”

Assumption:
1. Akbar is not as wise as Birbal.
2. Akbar wants Birbal to become the next king.

Ans x11 mzaﬁﬁﬁa%

Both 1 and 2 are implicit
. Faor wqAe 1 fafga

| Only assumption 1 is implicit
xg';ra’m ikadrodfa d

Neither 1 nor 2 is implicit
Faer A 2 TRk @

4.
Only assumption 2 is implicit

v

X




Ans

o L
jan feb mar apr may jun

jan- Steady feb- BIadr mar- AT
apr- 3 may- #S Jun- 57
T I A X e & a¥ 2017 F 6 FEA F A TSheor AR FoF agelt
F (G #H) g §

A T H, TEEN TEIT a5F (3[) F AN GEY HEAT o gt (Fem) F
T 1

T 1T Ser & HUR W, AT 2017 F a5 F AR TShpa agar Hr
T T 2

0 ——m
as

35 35

15 + |

o |-

s B R |

jan feb mar apr may jun

The given graph shows the registration of bikes and total vehicles (in thousands) for 6
months in 2017 in City X.

Note: In the chart, the first number represents bikes (grey) and the second number
represents total vehicles (black).

Based on the given data, in March 2017, the number of vehicles other than bikes
registered is:

< 1.9000

X 2.15000
# 311000
v 410000

ifereiiseT T 3gfd T @ W) il 3ed==1. Bt gl

Alan flame is produced when the oxygen supply is sufficient.
orange
oflel
X 2
red
X3 ¢ L
green
blue

X

v

el fvsror & Y@ 3 ol 7 s 7 : 8 § wafE awd AR wWee @
Heae 6:7 §1 sor F Yo iRk deie F s a2

The ratio of sand to gravel in a mixture is 7 : 8 while that between gravel and cement is 6 :
7. What is the ratio of sand to cement in the mixture?

ans X1.8:6
v23:4
X349 : 48
K47 :7
Q.6 fr=faf@a # & Fia @1 s gEEfaw s # fega s F el

Ans

AT E?
Which of the following devices converts Chemical energy into Electrical energy?

" faega @
Electric cell
x 2 fega Jar
Electric fan
X3 LR !
Hair dryer



x4_ﬁ§g?r€m

Electric heater

Q.7

o Ry Rrerga @ Arer Rreww arer o1 & aRafda @ ST 8, ar gWeT pH
TR e @ v wrEar A 8

If a solution turns blue litmus red, its pH is likely to be:
X119
X238
V6
X47

Q.8

SFCAITERN fahEehT fghar 7

Implantation is the process of:
v

Te AT & ATSTAT B FIAAS T J3aAT

attachment of zygote to the lining of a uterus
X 2

ATET F AR F 37T U F==1 &7 [SehrH

the development of a child inside the mother’s body
X3

AT & T W Torber & ATeH ¥ qyor

nutrition from mother’s blood through placenta

, 3107 3R g S & farehr

developing an embryo and its nourishment

X

Q.9

A T 71T ferent F O TEfOd eg FHHET B

PUNE : SXQF :: CITY :
Select the related letters from the given alternatives:

PUNE:SXQF::CITY:_
X 1. EKVZ
X 2 FLXZ
v 3 FLWZ
X 4 GMVZ

11111 FTFTE:

The square of 11111 is:
< 11234321
< 2321231
< 31223311
V' 4.123454321

Q.11

o & @ i @1 37 @ PFafafa aot & @g dor @ wiafafes awar
A

e, Ryam, sfarex

‘Which of the following Venn diagrams correctly represents the following classes:

Men, Fathers, Doctors

X

-©



X 4

0@

31T 3R IR e Y e 6 3T 7 R #F @ AR v §1 A a @
et 1 T €, A 3 o T 780 31T I §1 5 Y 3 S 7 41T ey
I

Arjun and Anurag complete a job in 6 days and 7 days respectively. They worked together
and earned a total of ¥ 780. Find Arjuns’s share in this amount in 3?

< 1.560
< 2490
< 3.350
Vv 4 420

Q.13

fae sas TR H, Fa F & et # 87 Aog € 0
In the modern periodic table, which of the two periods contain 8 elements each?

e g 2ER
2and3
x o, 13R2
land2 Q
x5 43RS oo
4and 5 0‘
x4 3FR4
3and 4
Q.14 FoR ¥ T s gus TR # I T w7 16%

Ans

3 TR ¥ T 1,500 F @heT o1 A FEA X

Qamar gained 16% on the resale of a used stereo. If he pi
how much did he sell it for?

X 1.¥ 1,660
X 2T 1,600 6
V'3 T1,740

X 4%1,820

Q.15

Ans

& IS AT H W HUTPUT WA F TIA H

3, 12 21612

Select the number missing from the given series.

3,12, ,21612
X 1.150
X 2200
X 5149
v 4147

Q.16

T T FHS FAT &
The unit of momentum is:
X 1. Kgms?
X 2. Kgms™?
X 3. Kgms
' 4 Kgms™*

Q.12
Ans



Q.17

3 S-S F TIT FY A & TS FoF WA F FE T yfafaw g

s

>
Pdqr

Select the Answer Figure that is the correct water image of the given Problem Figure.

Problem Figure

Answer Figures
A

T4r

D

ans  of 1.D
X2C
X 3B
XA
Q.18 2016 # wefiia g, rafofed # & #la & Jgeh Forareh frew & o 100

Ans

m@rmﬁmﬁwﬁ»—mﬁ?

Released in 2016, which of the following is the first Malayalam movie to cross the 100~
crore revenue mark?

x o SFH
Premam
J2.2
Pulimurugan
, TRITH
' Drishyam
X 4 3T TSFHeT THT
Oru Vadakkan Selfie

ABC$+#DEF&=?GHII2+@
Wa@aﬁn%mwﬁmgﬁww@aﬁl

ADG : +=2 :: CEl :

ABCS$+#DEF&=?GHI2*@
From the above sequence find the missing term.

ADG :+=2 : CEIL:

Ans x1,[)@?
v 2 D?@
X 2 E@?
X1 E2@
Q.20 Ao Fr THAT 37 I B TAAF 37 F 1.5 I F 3 a¥ FA ¢ 12 a¥ Tger

3T Y 3H T B 3H F 3T ¥ 3 q§ S M QU H TEAH 37 G 32

Roshan’s current age is three years less than 1.5 times that of Usha’s. 12 years ago Usha’s
age was three years more than half of Roshan’s age. What is Roshan’s present age in
years?

Ans 1. 30
X 239
X333
Va2

Q.21

Ans

e SRt & & frmer sdega e oer a8
‘Which of the following animals has a comparatively longer intestine?

hedl
X
Dog




STe
: Tiger
X3 st
Fox
o« T
Rabbit

Q.22

Ans

20kg 9T T T TFG F 2m H A aF 35T AT ¢ W TG W
TCAHIVT T GERT AT T e grem 2

(AT of g =10 m/s?)
An object weighing 20 kg is raised through a height of 2 m. What will be the work done
by the force of gravity in this process?

(Take g = 10 m/s?)

100 ST
X o

1007
50 ST
N

507
40 et
~

407
400 TeT

4007

X 2

X 3.

v g

Ans

A 7w Fyer # w@ AfAw 3k AR P Hifve & T 7w FyE F ¥
T &7 & FiF ¥ oo Fee o w9 §

FYT:
el o Fofaar § FE o FAoo AT 7@ ¥

forsd:

1. 1 ofr i ok & ¥
2. F1§ s o W 7 T

Consider the given statements to be true and decide which of the
definitely be drawn from the statements.

Statements:

All sharks are fish. No fish is a snake.

Conclusions:

1. No snake is a shark.
2. No shark is a snake.

Faer Y 2 0T F g
Only conclusion 2 follows.

LA A1 AR T A 2 HFEOT FA L

X

X

Neither 1 nor 2 follows.

| AT TS 1 ST F
Only conclusion 1 follows.

1 3R 2 3t sregERer =
Both 1 and 2 follow.

x

v




02 g o 1 TUa H S THE ¥ FEOT 7@ 8

DO

A B C D
Select the figure which does NOT belong to the group.

DO

A B CcC D
Ans .,10

X 2B

XD

XaA

% farafaf@d & & fraa B §72

How many triangles are present in the following figure?

Ans X114
X212
V315
X< 416

Q.26 F e agT A T FER ggS o AR 5N Sgwwy A R
oar
The founded the first city of Delhi and named it Indraprastha.

Ans ’1m Y

Pandavas

X2°
Portuguese

Hiar

Kauravas

X 3.

e
X4
Mughals

Q.27 5 5 @y & 30 AR T F $ARA F IR F 3GA7= Hor 30° ¢ e
S o B 2
The angle of depression of the foot of a building from the top of a tower 30 m away is 30°.
How high is the tower?

Ans 2043 #HreT
X
20v/3m
, 30 AT
30m
5 10V3 #Hex

10v3m

x

v



20 #Hrex
20m

X 4

Q28 DWT : GZW :: QPM :
DWT:GZW : QPM:___
ans  of 1. TSP
X 2PST
X3 STP
X 4 TPS

Q.29 X & 3R F 124 & off 3R Fam & o H Fo FEAT 16 off A X F AT
¥ 7 I Al

X’s rank was 12 from the top. If the total number of students in the class was 16, then X’s
rank from the bottom of the class is:

As X' 1.6
v25
X34
x47

Q.30 W,Iﬁaﬁrﬁin?wmmﬁmlmxwmi T o, fem
#wgw%mmaﬁrﬂwtﬁé:wmlzﬁé:wéwmﬁﬁmm
a?

Tapan, Ravi and Trisha shared a cake. Tapan had % of it, Trisha had % of it and Ravi had
the rest. What was Ravi’s share of the cake?

Ans " 7 i
- 12
X 2
X 3.
X 4

Qe N N

Q.31 TH AF F AU F AT 641 T FAT & Tt FHeAr ol s 17
WA ¥ 3 oF N AW Ao Iod A & v T A FARX Bz mw
=W aiter Fr =2 raer g

The area of the base of a cone is 641 cm? while its slant height is 17 em. This cone is
remolded to obtain a solid sphere. The radius of this sphere will be:

Ans v 2%/30 #@dHeT
23/30 cm
8130 Fdx
X2
8330 cm
x 5 8.5 HEHAET

6.5 cm
, 2Y40 d@éeT
2140 cm

x

Q.32 33T TEe THETHT IR e FT F aas TR T 9g ARAT
gt il 2 3R Remdr & a¥ 2016 # 7 qatey @fda o

Who is the first Indian player to score a century in his debut One day International Cricket
match? The said player achieved this feat in 2016.

1 ST AeT
Jayant Yadav

, T AR

Karun Nair
v .ol T

K.L. Rahul
x4 gifées dgar

Hardik Pandya

Ans

x

@3 31T IFHETSS HHAN WA &

Non-metal oxides are usually:



Ans qu#h:r

acidic
ey
basic

oA

3.
amphoteric

LG O

neutral

X2

X 4

Q.34 7 o 5 fost Rt & & o #F TEaT B U FAW ggfed g § 3%
RFed & Ta &Y ot 7T C & fow 71w wot Reer (?) &t age W g1

Assuming that the numbers in each of the following figures follow a similar pattern, select
the option that can replace the question mark (?) in figure C.

N N N
as X145

v 37

X235

X447

Q.35 ¥ wHOT 2017-18 ¥ R, HNA F THT W 3& (GDP) F Far AT
1 gfaeE A TlefEe & ¥ e @ F g @em?

As per Economic survey 2017-18, the percentage contribution of the Services Sector to
India’s GDP will be in the range of:

Ans X1 30-40% o &r=r
Between 30-40%
X2 40-50% F &r=r
Between 40-50%
N 50% & 3fo=
Greater than 50%
N 30% ¥ HF

Less than 30%

v

x

Q.36 Y URT F AT F TNT F AF T off AT AT L
is known as India's Spice Garden.
An
s X1 HERISE
Maharashtra
X2
Rajasthan
X3 FAleH
Karnataka
o

Kerala

7 co, & Fraa Fr gfaerd A Raer g §
The percentage of carbon in CO; is:
Ans X 1. 44
V2273
X314
X412



Q.38 @& W wAYEs far FY ik ot & B swe @ & s wla wr o
Eccclniiog Nl

a&:
TSAT TUEOT & GivoT 7 off fF a7 R @ & T & fow aelk sk
TAT & €T TSH FEAT FT T3 FH YT BT

HART:

1. dtet @Y dereilt S gEET & @ e AT A AT $HE T qedd
#r ST B

2. OISO 3HeATaed® AR H § ANTRG! H @A HT W@

Consider the argument and decide which of the given assumptions is/are implicit.
Argument:
The highway authority had announced that it will be undertaking a major road repair work

for three days beginning Friday between Bangalore and Tumkur.

Assumption:
1. People need to plan accordingly for their trip between Bangalore and Tumkur.

2. The authority is troubling citizens with unnecessary repair work.

e ;<'1.H‘_'ﬁ1 IiRafr2ARka g
Neither 1 nor 2 is implicit
el A 2 fafed g
| Only assumption 2 is implicit
., ! 3R 2 gt fafea €
Both 1 and 2 are implicit

| Ao A 1 fafea @

Only assumption 1 is implicit

x

v

Q.39 57 T T A T 3T e A ¥ A eeaa d & S @
afafda gar 82
Which of the following changes when a body performs uniform circularmotion?

Ans
1. It
Speed
GTHATA
Mass
Vs femm
Direction
HaeT

Momentum

X2

X 4

Q.40 & a1$ Il F TE av-oRy I AR R @ ofvew s @ A

~
N

L7777

Select the correct mirror image of the given figure if the mirror is placed horizontally as
shown.

£
N

~N

Ans




X 2

SRR
/

[ON

Q.41 7= garT 12 gfemsit & s sihwa 3% 24 ¥ AW F 3@ 7 23w
3% 9o U & A 3 Faer 9 ofe? & ) Ry wede T F 0 F T
3% T e §, & S 1 Aw A gdenst F ¥, R m @ aH § A
T 3% TR T°T A G, A1 Tg T & T HT JH HA B
Hier o1 wH?
The average marks obtained by Raghav in 12 tests is 24. Zubeida has maintained an,
average of 23 so far but has taken only 9 of the tests. If each test is out of 30, at least how
much must Zubeida score in any one of the remaining three tests to still have a chance to
match Raghav’s performance?
ans X119
v 2 21
<320
<422
Q.42 3R # 3R FF F g, T, 9 Fr gE H feww # 45° ;s 7, AR R
@t &1 g§ Hr Buda e 7 135° v R g v S g$ H few & 180°
= 71 e 7, fw fem 1 ok dma U w S g R
Facing North, Aishwarya turns 45° clockwise, then 135° anticlockwise and then 180°
clockwise. Which direction is she is facing now?
Ans
x1 gfayor
South
X2
North
v =
East
X 4 TReT
West
Q.43 TEr ¥ e &% F T600 HY UAURY B FAT FAAT AR 3H 8% iy I @
HUIROT A1 9o gl 81 afE T ¥ 5t o dF A umuly Fr @ ar 5w
=S & T A e afr grea @ehr?
Rahi deposited T600 in a bank that promised 8% simple interest per annum. If Rahi kept
the money with the bank for 5 years, she will earn an interest of :
Ans X1 %280
X 23200
X 3.3480

v 4 2240




Q.44

3ealk 3THTaat (Answer Figures) # & weet RgsT & T W 31 arel WéY
Eieaci:cil

Problem Figure

eS| ?

Answer Figures

SNTO
209106

1 3 e
Choose the correct figure from the answer figures that replaces the question mark.
Problem Figure
NFIE

Answer Figures

X24
X33
X1

Q.45

8% FTEIROT AT 1T & G W S el 22 asf & 300 & i 21
afda g = 82

At 8% simple interest per annum a sum of money becomes ¥ 300 in 2% years. What was
the sum invested?

X 1.3 240
X 2.3 260
X 33275
' 4.T250

Q.46

fFl “TEH F FW F, Tk TG F Ferddd  HIOT 30° AT| e 45 #eT Far
o AR coreHRT qur et & A AT g 40V 3 Fex o e Fr Farg
foraer ofr?

From the top of a platform, the angle of elevation of a tower was 30°. The tower was 45 m

high and the horizontal distance between the platform and the tower was 40+/3 m. What
was the height of the platform?

x1}40 Hex
40m

ﬂsma
Sm

20V3 #Hrex
X 3.

20v3m
X 453 #Hrex

453 m

Q.47

Ans

e # & #la @1 a7 #3309 & e ol # F Se-vegfAta

SRIE o 27
‘Which of the following elements replaced eka-Aluminium in Mendeleev’s Periodic

Table?
=g
Scandium
x o STeEH
Germanium
J 5 m
Gallium
X asfaaw

Titanium

X

Q.48

Ans

A,B 3R e e 13 #7110 et & wara w3 # AR B fAeew
= FE F 12 & & gaATa = §, F@F B3R ¢ e @y Beew s
120 e # 9 F3 § IR B3 3W FE A FY A W I F Q@ F
# e e oerr?

A, B and C can complete a task together in 10 days. A and B would need 12 days if only

the two of them worked, while B and C would take 20 days if only the two of them
worked. If B worked alone, how many days would she take to complete the task?

V130
X222
<320



X 445

Q49 &y 1% Pl FT T H aAS Ao WA ST A

Problem Figure

A
O

Answer Figures

>3 D9 (P9 <

A B C D

Choose the correct water image of the given figure.

Problem Figure

A

O

Answer Figures

D3 [P [P [6<
o XA

X2D

v:B

XacC

Q.50 T (mitosis) & TOT F AF T, v aRTw FREIRT A, 5 TR
Ao @ W e A

Name the stage of mitosis during which the chromosomes of a dividing cell lies at the
equatorial plate?

Ans m

v
Metaphase

2. m
Prophase
TATHS

' Anaphase
et

A Telophase

X3

X 4

Q.51 afe7ar 97 2 ¥ei 3 e ofrear & 1 atar ¢ 3R v fow 7 16 arqe R Far s,
3R 30 g Rrar -0y 8 5 1 e € 34T v R 3 24 T AR s
FT AT

If a young son works quickly for 2 hours and prepares 16 items in a day, and his old father
‘works slowly for 8 hours and prepares 24 items in a day, which of the following is true?

Ans g & FaAr ¥0F B
X2

The son has more energy.
i g &t o e B

The son has more power.

x s 2T & FAT UF FAA B
Both have equal energy.

x4 ST & ATFT TH THA &
Both have equal power.

v




952 aFTEET Yo T 8

Hydra reproduces by:
. ¥ s

Multiple fission

x2 Tz s g@rr
Binary fission

5 frass ganr
Fragmentation

4. W m
Budding

Ans

x

53 Al # O Fid T U IBUriRy e 22
Which of the following is a Pythagorean triplet?
Ans  X'1.7.9,11
' 28,1517
X 3235
X 4.17,21,29

@ T T ITHA & oo UG fAdkear ¥ gl

Y-25, W-23, U-21, S-19, ?
Select the term missing from the given series.

Y-25, W-23, U-21, 8-19, ?
ans X 1.Q-10

X288

X 3. P-16

v Q17

Q.55 Rt e A FA A F v Ffaf@a 73 g ufear & afs geg defr
i

‘Which of the following processes will take place the slowest for the same quantity of
liquid?

Ans FIUA
1.
Boiling
A
Freezing
X A
Condensation

arsdeRIoT

Evaporation

X2

v 2

0% Fegey F gAA TH grar g
A computer always has a:

e

1.
Keyboard

v ~
CPU
| T TS

Graphics card

x



HASH

X a
Mouse

Q.57

Ans

R vure & wew 39gFa e ot |
18 Aee = x3 3EA |

Fill in the blank with the most appropriate option.

18 volts = x3 ohms.

‘hsuﬁﬂn

6 amperes
6 Slol
X2 O
6 joules
x2© FeivFa

6 milliamperes
x4 6 drc

6 watts

Q.58

Ans

ST # v g@y & @ems dordr €2

These regional teams: Dabang Mumbai, Kalinga Lancers, Ranchi Rays and Delhi
Waveriders play against each other in which sports league competition?

Ot assr T
Pro Kabaddi League
2 A3 arEhcalel Ty
United Basketball Alliance
s sfEaa Wiffw oer
Indian Premier League
., & < dm

Hockey India League

X

Ans

T & R 1 37 T & 37 & A 31 8 9 Gger T & Rr Fr 3w A
& 37 $ 2.5 T N TH H TOA 37 F7A 82

Ram’s father is twice as old as Ram is. Eight years ago the age of Ram’s father was 2.5
times his age. What is Ram’s current age?

22 I§
X
22 years

x2 23 Ty
23 years

v 24 %

24 years

25 a¥
X a
25 years

Q.60

Ans

9T A 3T C falr @ & @ Feen 32 3k 48 wet F sw wed ¥, sl
9159 B Y gU &F 24 W F W W Tl §1 A A 5 5 semar
T f@ar e A & Y 2/3 A A A 9 e

Pipes A and C can fill an empty cistern in 32 and 48 hours, respectively while Pipe B can
drain the filled cistern in 24 hours. If the three pipes are turned on together when the
cistern is empty, how many hours will it take for the cistern to be g full?

v .64
X296
X372
X 448




Q.61

Ans

RT 71T o W AR X 3R 97 F F PRy swE § @ Fa-ar sua
e HT Fecl &t & forw v §

14820844 &1 FeT FT 2

FYA:

1. $ & T -, « F AT +, # F A +
2. 1482048 = 25

Consider the given question and decide which of the following statements is sufficient to
answer the question.

What is the value of 14$20*8#4?

Statements:

1. $ implies -, * implies +, # implies +
2. 14820*8 =25

X
AT FUT 2 AT § @ Fao HUT 1 qATT 74 §
Statement 2 alone is sufficient while statement 1 alone is insufficient

xz.;ra”rm1qu‘r\¥r%;rm2€r

Neither statement 1 or 2 is sufficient

vV &)
AT FUA 1 9ATT § FafF FIT FUF 2 qATT & &

Statement 1 alone is sufficient while statement 2 alone is insufficient
o FUA 3t 2 =t gaeT §

Both statements 1 and 2 are sufficient

Q.62

Tgell Bl TR e HEAT3HT 1 3ET 4T 82
What is the mean of first hundred natural numbers?
v 1505
X251
<350
X 4515

Q.63

mwmﬁﬁxmmmamaw
&9 # g & F T 3IIAT FIEA I8 A2

‘Which assembly constituency within Chennai city was forced to have a recent by-election
because of the death of then Chief Minister Jayalalithaa?

x o T
Royapuram
, 3. &. TR
RK Nagar
Ea
Saidapet
, T3S wIgeH
Thousand Lights

X3

x

Q.64

Ans

T GIpd TEAT H A 4,56 7 & RenfaT Bar war F O 93 qar F
AY 3Frar 3l U FEY X F&IT = e

A natural number, when divided by 4, 5. 6 or 7, leaves a remainder of 3 in each case.
‘What is the smallest of all such numbers?

X< 1213
X 2843
V'3 423
X 463




°-65mmﬁmmuﬁﬁ?aﬁgﬁl

Ans

A B (© D
Fill in the missing space with the correct figure.

&
®
S/

X1.C
<2 A
X:B
v+D

Q.66 RF 7T Fua F T Afaw it fAw Gvly Hifde F /AT Fw T F

Ans

RTT &7 ¥ Fia ¥ sy B o1 @ §

HYA:
aET F @ AT FS T dgaw HAST F T owd F a9 @ B

forsd:

1. T FEE A e F e Sy ger ot
2. gl HR afat & Few qRgea et F iy @ wfkw

Consider the given statement to be true and decide which of the given conclusions can
definitely be drawn from the statement.

Statement:

Many people living in villages relocate to cities for a better future.

Conclusions:

1. Government officers should have compulsory
rural posting.
2. Increase more transport facilities between cities and villages.

’1.;ra’r1 3T T & 2 HFEIOT FIAT g
Neither 1 nor 2 follows.

| e Ty 2 HTERoT e B
Only conclusion 2 follows.

| AT TS 1 ST FA g
Only conclusion 1 follows.

|1 3R 2 At sregeRer w3 E
Both 1 and 2 follow.

x

X

x

Q.67 e gIEEISIe AT A, T Foragier 5.0 x 1074 'm Proar Hr e #¥ 2.2 x 10° nys a1fey

W T § | FAGeY faege arr Fr &2 (Rrega smaer= 1.6 x 107 )

In a hydrogen atom, an electron moves in an orbit of radius 5.0 x 10~*!m with a speed of
2.2 x 10° m/s. What is the equivalent current? (Electronic charge = 1.6 x 107 C)



Ans  X'1.0.112 mA
X 2112mA
X3 11.2mA
v 41.12mA

Q.68 T 1T el ST 9=El F FUR W IAIRT qeE F TAF FY

D@y ogerar - W
Select the missing term based on the given related pair of words.

: Hand :: Sole : Foot

Sl

Finger

‘Palm

Q.69 3y 9T HHATT (S a1g F AT F=M) F 2017 F RreARIR ALHeRH
HTTHE TR 9T §3T?

‘Which Indian actor-turned-politician won the 2017 Filmfare Lifetime Achievement
Award?

Ans g
X ﬂﬁa

Dharmendra
argee faemr
Shatrughan Sinha
x5 TG T
Vinod Khanna
x , AR FoTT
Amitabh Bachchan

v

Q70 36, 54 31T 108 FT A. T fargar gem?
The HCF of 36, 54 and 108 is:
Ans X112
V218
X36
X 49

Q.71 2018 @, freafe@rery sieerer ST (Z5H) F 3rewet Hia Exd
As of 2018, who is the Chairman of the University Grants Commission (UGC)?

Ans
1. e wEgags
Anil Sahasrabudhe
V> . 4. g
D.P. Singh
. FASTAT gageeln
Najma Heptulla
x o . WRET
V.K. Saraswat

x

Q72 frfaf@a & & #ia @ sifas TR F& A T Fgorar §2
‘Which of the following physical quantity measures the rate of work done?

Ans ol
;

Force



X2 Far
Energy

Vs e
Power

x o T
Momentum

Q73 g @ forw TET # THA TH FIRAT TEAT &7
The square root of which of the following numbers is irrational?
Ans X 1. 3969
v'2 6560
X 35625
X 41764

Q.74 Distribution of various Minerals in Human Body
Sodium
®

Calcium

= ‘

8% Magnesium
« Potasium = 500

Distribution of various minerals in the human body- Aea R & fafdes
Aeew @ faawor

Calcium- &feerrs
Magnesium- #vfRas
Iron- g

Potassium- srefwra
Sodium- @fETH

R 711 E AwT R F @At H AT F R@Er g

T 1T S F HUR W, AT 0 F gEY wEw U gfeRe HR gy
FEY FH FRT qT UG F AN FAE?

Distribution of various Minerals in Human Body

Sodum
-
Calclum

8% Magnesium

m @Magnesum « von s Potmum  Sodum

The given graph shows the distribution of minerals in the human body.

Based on the given data, what is the ratio of the metal with the second highest percentage
of distribution to that with the second lowest percentage of distribution in the human
body?

s f 1.2 01
X21:2
X33 :1
X441

Q75 farg gTee cafed o T FAGEAS A1 AHF T ord &7
‘Which celebrity is the author of the book ‘An Unsuitable Boy’?
G g
Khuswant Singh
X2 AMETW WA
Shah Rukh Khan
et faregT
3.
Shatrughan Sinha
v T Iy

Karan Johar

x

x





https://prepp.in/
https://www.facebook.com/prepp.in.exams/
https://www.instagram.com/prepp_in/
https://twitter.com/prepp_in
https://in.pinterest.com/prepp_in/
https://www.youtube.com/channel/UC5lbyL9e2Nxqev5_kWtZCwg
https://prepp.in/government-jobs-2021-news

	0
	3db58c54545fb635ced490061e19319f



